
Box Components

Rearfoot 3,5

Box Components Kit

09.50.03.00055

Component Cases

09.50.04.00055
09.50.04.00056



[Blank]



1

Rearfoot 3,5



2

Rearfoot 3,5

N# REF DESC QTY

1

15.04.03.35008 Cortical Screw, Ti, Ø3.5 x 8mm TX, S/I Extrem 5

15.04.03.35010 Cortical Screw, Ti, Ø3.5 x 10mm TX, S/I Extrem 5

15.04.03.35012 Cortical Screw, Ti, Ø3.5 x 12mm TX, S/I Extrem 10

15.04.03.35014 Cortical Screw, Ti, Ø3.5 x 14mm TX, S/I Extrem 10

15.04.03.35016 Cortical Screw, Ti, Ø3.5 x 16mm TX, S/I Extrem 10

15.04.03.35018 Cortical Screw, Ti, Ø3.5 x 18mm TX, S/I Extrem 5

15.04.03.35020 Cortical Screw, Ti, Ø3.5 x 20mm TX, S/I Extrem 5

15.04.03.35022 Cortical Screw, Ti, Ø3.5 x 22mm TX, S/I Extrem 5

15.04.03.35024 Cortical Screw, Ti, Ø3.5 x 24mm TX, S/I Extrem 5

15.04.03.35026 Cortical Screw, Ti, Ø3.5 x 26mm TX, S/I Extrem 5

15.04.03.35028 Cortical Screw, Ti, Ø3.5 x 28mm TX, S/I Extrem 5

15.04.03.35030 Cortical Screw, Ti, Ø3.5 x 30mm TX, S/I Extrem 5

15.04.03.35032 Cortical Screw, Ti, Ø3.5 x 32mm TX, S/I Extrem 5

15.04.03.35035 Cortical Screw, Ti, Ø3.5 x 35mm TX, S/I Extrem 5

15.04.03.35040 Cortical Screw, Ti, Ø3.5 x 40mm TX, S/I Extrem 5

Implant 
Case Set 

1

Implant 
Case Set 

2

1

2



Implant Case Set 1

Implant Case Set 1
Tray 1

Implant Case Set 1
Tray 2

Implant Case Set 1
Tray 3

Implant Case Set 1
Tray 4

3

Rearfoot 3,5

N# REF DESC QTY

2

15.14.03.35008 Locking Screw, Ti, Ø3.5 x 8mm TX, S/I Extrem 5

15.14.03.35010 Locking Screw, Ti, Ø3.5 x 10mm TX, S/I Extrem 5

15.14.03.35012 Locking Screw, Ti, Ø3.5 x 12mm TX, S/I Extrem 10

15.14.03.35014 Locking Screw, Ti, Ø3.5 x 14mm TX, S/I Extrem 10

15.14.03.35016 Locking Screw, Ti, Ø3.5 x 16mm TX, S/I Extrem 10

15.14.03.35018 Locking Screw, Ti, Ø3.5 x 18mm TX, S/I Extrem 5

15.14.03.35020 Locking Screw, Ti, Ø3.5 x 20mm TX, S/I Extrem 5

15.14.03.35022 Locking Screw, Ti, Ø3.5 x 22mm TX, S/I Extrem 5

15.14.03.35024 Locking Screw, Ti, Ø3.5 x 24mm TX, S/I Extrem 5

15.14.03.35026 Locking Screw, Ti, Ø3.5 x 26mm TX, S/I Extrem 5

15.14.03.35028 Locking Screw, Ti, Ø3.5 x 28mm TX, S/I Extrem 5

15.14.03.35030 Locking Screw, Ti, Ø3.5 x 30mm TX, S/I Extrem 5

15.14.03.35032 Locking Screw, Ti, Ø3.5 x 32mm TX, S/I Extrem 5

15.14.03.35035 Locking Screw, Ti, Ø3.5 x 35mm TX, S/I Extrem 5

15.14.03.35040 Locking Screw, Ti, Ø3.5 x 40mm TX, S/I Extrem 5

1

2



4

N# REF DESC QTY

3 26.26.00.35010 Lock-Plate, Ti, Universal, 10mm, IE 3,5mm 1

4 26.26.00.35012 Lock-Plate, Ti, Universal, 12mm, IE 3,5mm 1

5 26.26.00.35014 Lock-Plate, Ti, Universal, 14mm, IE 3,5mm 1

6 26.26.00.35016 Lock-Plate, Ti, Universal, 16mm, IE 3,5mm 1

7 26.26.00.35018 Lock-Plate, Ti, Universal, 18mm, IE 3,5mm 1

8 26.26.00.35020 Lock-Plate, Ti, Universal, 20mm, IE 3,5mm 1

9 26.26.00.35022 Lock-Plate, Ti, Universal, 22mm, IE 3,5mm 1

10 26.26.00.35024 Lock-Plate, Ti, Universal, 24mm, IE 3,5mm 1

11 26.26.00.35030 Lock-Plate, Ti, Universal, 30mm, IE 3,5mm 1

12 26.26.22.35000 Lock-Plate, Ti, W/O Spacer, IE 3,5mm 1

13 26.26.22.35002 Lock-Plate, Ti, 2mm Spacer, IE 3,5mm 1

14 26.26.22.35004 Lock-Plate, Ti, 4mm Spacer, IE 3,5mm 1

15 26.26.22.35006 Lock-Plate, Ti, 6mm Spacer, IE 3,5mm 1

16 26.26.22.35008 Lock-Plate, Ti, 8mm Spacer, IE 3,5mm 1

Rearfoot 3,5

Implant Case Set 1
Tray 1

3 4 5
6

7 8
9

10
11



5

N# REF DESC QTY

17 26.26.51.35016 Lock-Plate, Ti, H, 16mm, IE 3,5mm 1

18 26.26.51.35018 Lock-Plate, Ti, H, 18mm, IE 3,5mm 1

19 26.26.51.35020 Lock-Plate, Ti, H, 20mm, IE 3,5mm 1

20 26.26.51.35022 Lock-Plate, Ti, H, 22mm, IE 3,5mm 1

21 26.26.01.35041 Lock-Plate, Ti, Plantare, IE 3,5mm 1

22 26.26.07.35012
Lock-Plate, Ti, Oblique-Flat, 12mm, IE 
3,5mm

1

23 26.26.07.35014
Lock-Plate, Ti, Oblique-Flat, 14mm, IE 
3,5mm

1

24 26.26.07.35016
Lock-Plate, Ti, Oblique-Flat, 16mm, IE 
3,5mm

1

25 26.26.36.00637
Lock-Plate, Ti, Reconstr, 6-H x 37mm, IE 
3,5mm

1

26 26.26.36.00850
Lock-Plate, Ti, Reconstr, 8-H x 50mm, IE 
3,5mm

1

27 26.26.36.01466
Lock-Plate, Ti, Reconstr, 14-H x 66mm, IE 
3,5mm

1

Rearfoot 3,5

Implant Case Set 1
Tray 2

Implant Case Set 1
Tray 3

12 13 14

15 16
17

18 19 20

21

22 23

24

25

26

27



6

N# REF DESC QTY

28

15.28.03.35034
Cannulated Screw, Ti, Part Thread, Ø3.5 x 
34mm TX

1

15.28.03.35036
Cannulated Screw, Ti, Part Thread, Ø3.5 x 
36mm TX

1

15.28.03.35038
Cannulated Screw, Ti, Part Thread, Ø3.5 x 
38mm TX

1

15.28.03.35040
Cannulated Screw, Ti, Part Thread, Ø3.5 x 
40mm TX

1

15.28.03.35045
Cannulated Screw, Ti, Part Thread, Ø3.5 x 
45mm TX

1

15.28.03.35050
Cannulated Screw, Ti, Part Thread, Ø3.5 x 
50mm TX

1

29

15.30.03.35034
Cannulated Screw, Ti, Full Thread, Ø3.5 x 
34mm TX

2

15.30.03.35036
Cannulated Screw, Ti, Full Thread, Ø3.5 x 
36mm TX

2

15.30.03.35038
Cannulated Screw, Ti, Full Thread, Ø3.5 x 
38mm TX

2

15.30.03.35040
Cannulated Screw, Ti, Full Thread, Ø3.5 x 
40mm TX

2

15.30.03.35045
Cannulated Screw, Ti, Full Thread, Ø3.5 x 
45mm TX

2

15.30.03.35050
Cannulated Screw, Ti, Full Thread, Ø3.5 x 
50mm TX

2

Rearfoot 3,5

Implant Case Set 1
Tray 4

28
29



7

N# REF DESC QTY

30 99.05.00.35000 Washer, Ti, Ø3,5mm, S/I Extrem 5

31 09.07.08.10092
Cannulated Shaft Screwdriver, TX-10, 
90mm, AO, Yel

1

32 09.01.04.25095
Cannulated Drill Bit Ø2.5 x 95mm, Tw-30, 
AO

1

33 09.01.10.25095 Cannulated Drill Bit Ø2.5 x 95mm, Tw-30 1

Rearfoot 3,5

Implant Case Set 1
Tray 4

30

31
32

33



8

N# REF DESC QTY

34

26.28.00.35003
Lock-Plate, Ti, Calcaneus, Medium, IE 
3,5mm

1

26.28.00.35004 Lock-Plate, Ti, Calcaneus, Large, IE 3,5mm 1

35

26.28.00.35002 Lock-Plate, Ti, Calcaneus, Small, IE 3,5mm 1

26.28.00.35001
Lock-Plate, Ti, Calcaneus, Extra-Small, IE 
3,5mm

1

36

26.28.24.35002
Lock-Plate, Ti, Calcaneus, Multiseg, S, IE 
3,5mm

1

26.28.24.35003
Lock-Plate, Ti, Calcaneus, Multiseg, M, IE 
3,5mm

1

26.28.24.35004
Lock-Plate, Ti, Calcaneus, Multiseg, L, IE 
3,5mm

1

Rearfoot 3,5

Implant Case Set 2
Tray 1

Implant Case Set 2

Implant Case Set 2
Tray 2

Implant Case Set 2
Tray 3

34

35

36



9

N# REF DESC QTY

37 26.26.23.35000 Lock-Plate, Ti, W/O Offset, IE 3,5mm 1

38 26.26.23.35001 Lock-Plate, Ti, 1mm Offset, IE 3,5mm 1

39 26.26.23.35002 Lock-Plate, Ti, 2mm Offset, IE 3,5mm 1

40 26.26.23.35003 Lock-Plate, Ti, 3mm Offset, IE 3,5mm 1

41 26.26.23.35004 Lock-Plate, Ti, 4mm Offset, IE 3,5mm 1

42 26.26.23.35005 Lock-Plate, Ti, 5mm Offset, IE 3,5mm 1

43 26.26.23.35006 Lock-Plate, Ti, 6mm Offset, IE 3,5mm 1

44 26.28.23.35006
Lock-Plate, Ti, Calcaneus, 6mm Offset, IE 
3,5mm

1

45 26.28.23.35008
Lock-Plate, Ti, Calcaneus, 8mm Offset, IE 
3,5mm

1

46 26.28.23.35010
Lock-Plate, Ti, Calcaneus, 10mm Offset, IE 
3,5mm

1

Rearfoot 3,5

Implant Case Set 2
Tray 3



10

N# REF DESC QTY

47 09.14.02.00135 Bending Pliers, Flat, 135mm 2

48

09.50.10.00150 Dispenser for K-Wire 150mm 1

17.02.01.11100
Kirschner Wire, SS, Trocar/Round, Ø1,1 x 
100mm

1

49 09.07.04.10092 Shaft Screwdriver, TX-10, 90mm, AO, Yel 2

50 09.04.04.12030 Cannulated Handle, AO, 120mm, Gre 1

Rearfoot 3,5

47 47

48

49
50

Box 
Instruments

51
52

53 54

55

56



11

N# REF DESC QTY

51 09.01.03.25020 Drill Bit Ø2.5 x 120mm, S-50, AO, Yel 2

52 09.01.07.25021
Drill Bit Ø2.5 x 125mm, S-50, Stryker, B-4.5, 
Yel

2

53 09.08.02.14040
Gauge 40mm, Direct Measuring, Wire Ø1.4 
x 100mm

1

54 09.05.14.04025
Graduated Drill Guide, Ø2.5 x 40mm, 
Threaded, Yel

2

55 09.10.06.00150
Plate and Screw Holding Forceps, Angled, 
150mm

1

56 09.08.01.00060 Depth Gauge 60mm 1

Rearfoot 3,5



[Blank]



[Blank]



AST.BOX.018
REV.01

09/2022


